Review 4 Notes

Quadratics
1) Find the following for the quadratic y = —3x2 + 2x +/$,,\_,/\\_\
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e) Rewrite the equation in vertex form

'Y =23 (x ~0.33)

2) Factor the following.
a) x> +10x+16—

_____ ((\*JN\ f Q:)

2
\

L\_

c) x*-6x+27
7/t 1‘1\\

———

/

(-(g%WEQx 3)

Fa /\

Vertex form:
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2) (Continued) Factor m/

e) 5x° — 10x f) 12x*- 28x-5
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3) Use the quadratic formula to solve.
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5) What value completes the squareint ession?
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7) Use the discriminate to determine the number of real solutions.
a) X*-6x+9=0 b) 5x*+2x—-1=0
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Exponentials
9) Graph

a)y=(2)

10) You own a business that is growing exponentially at a rate of 6.3% per year. The current
number of employees is 50, and you like to know about how many employees you will have in 5
years if the company continues to-grow at the same rate. How many people will you have?
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11) An account is compounded continuously with an interest rate of 2.2%. The principal amount
is $5000. How much is in-the account after 7 years?



